| Efficiency vs Dxy |
0.1

®)

@ 0.09

>

80.08

I3

$0.07
0.06
0.05
0.04
0.03

Xy

eff

0.02
0.014-

O

Ratio

0955 20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__ORIGINAL

| Efficiency vs Dz |

—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2

N 0.2
= H H H H H
§0.18:— """"" Freeeeeee Feeeeeeees P R R RRRLLLLLEE
> f 5 5 5 5 5
R e s v
(&) o H H H H .
£0.14 proneerene Froverereees Frrereeeener AR A
© 5 5 5 5 5
()RS IS NS R ——

RN SN NN FR SN S

0.08] - A-Fo oo S -
0.06F |-+l -+ T—
0.0af - LAl i + |
o2 1 T AR

o +W0Of : :
0.95[

2
o8
o

10 20 30
TP dz (cm)



	Contents
	Page 1


